500
1000

1500

e —— e S

2000

mjc HIP 43103 hr8 77s 2025 03-30T07-48-57
UTC 2025-03- 3'0 8:0
Mea?1 59%002
O’ —
2500 Exposure Time =77.4 s
ModeO
min = mean -1 o = 998.069
max = mean + 15 o = 1065.196
3000 Focus = 11235.0
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1500 —

2000

mjc HIP 43103 hrg 77s 2025-03-30T07-51-30
UTC 2025-03-30 08:12:03.84
Mea?1 T9%002.24O
o=4,
2500 Exposure Time =77.4 s
ModeO
min = mean - 1 o = 998.044
maxXx = mean + 15 o = 1065.182
3000 Focus = 11235.0
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D, .

2000

mjc HIP 43103 hr8 1e+025 2025-03-30T07-54-03
UTC 2025-03- 3'0 8:1
Meag 67%003
@ = 5.
2500 Exposure Time =103.2 s
ModeO
min = mean -1 o = 998.013
max = mean + 15 o = 1079.21
3000 Focus = 11235.0
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1500 e , _

2000

mjc HIP 43103 hr881e+025 2025-03-30T07-57-02

UTC 2025-03- 3'0
Meag 65%3003
o’ —
2500 Exposure Time =103.2 s
ModeO
min = mean - 1 o = 998.024
max = mean + 15 o = 1078.953
3000 Focus = 11235.0

17:19
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2000

mijc HIP 44127 hr8 355 2025 03-30T08-00-11
UTC 2025-03- 3'0 8:2
Meag 2—4%001
Pt
2500 Exposure Time =34.56 s
ModeO
min = mean -1 o = 998.07
max = mean + 15 o = 1050.047
3000 Focus = 11414.0
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mjc_HIP 44127 hr88465 2025 03-30T08-03-51

UTC 2025-03-30
Meag g0%001 .749
@ = 3.
2500 Exposure Time =46.08 s
ModeO
min = mean - 1 o = 998.244
max = mean + 15 o = 1054.331
3000 Focus = 11414.0

23:48
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mjc_HIP 44127 hr88465 2025-03-30T08-05-53

UTC 2025-03-30
Meag §0%001.75
o= 3.
2500 Exposure Time =46.08 s
ModeO
min = mean - 1 o = 998.247
max = mean + 15 o = 1054.321
3000 Focus = 11414.0

25:41.70
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mjc HIP 46853 hr8 365 2025 03-30T08-08-00
UTC 2025-03- 3'0 8:2
Meag 58%000
O’ —
2500 Exposure Time =35.856 s
ModeO
min = mean -1 o = 997.797
max = mean + 15 o = 1048.67
3000 Focus = 11414.0

2000
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2000

mjc HIP 46853 hrg 36s 2025-03-30T08-09-52
UTC 2025-03-30 08:29:57.17
Meag 2=5%001.359
@ = 3
2500 Exposure Time =35.856 s
ModeO
min = mean -1 o = 998.108
maxXx = mean + 15 o = 1050.117
3000 Focus = 11414.0
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S

mjc HIP 46853 hrg 485 2025 03-30T08-11-43
UTC 2025-03- 3'0 8:3
Meag 5819001
@ = 3
2500 Exposure Time =47.808 s
ModeO
min = mean -1 o = 997.897
max = mean + 15 o = 1052.126
3000 Focus = 11414.0

2000
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2000

mjc_HIP 46853 hr88485 2025 03-30T08-13-46

UTC 2025-03- 3'0
Meag g4}1001
O’ —
2500 Exposure Time =47.808 s
ModeO
min = mean -1 o = 998.272
max = mean + 15 o = 1054.976
3000 Focus = 11414.0

34708
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mjc HIP 47908 hrg 30s 2025-03-30T08-16-04
UTC 2025-03-30 08:36:17.78
Meag 2—8%001 .459
@ = 3.
2500 Exposure Time =29.88 s
ModeO
min = mean-1 o0 =998.173
max = mean + 15 o = 1050.755
3000 Focus = 11414.0
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*

2000

mjc HIP 47908 hr8 30s 2025 03-30T08-17-49
UTC 2025-03-30 08:37:53
Meag 2=9%001.45
@ = 3
2500 Exposure Time =29.88 s
ModeO
min = mean -1 o = 998.159
max = mean + 15 o = 1050.833
3000 Focus = 11414.0
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2000

mjc HIP 47908 hr8 405 2025 03-30T08-19-35
UTC 2025-03- 3'0 8:3
Meag gz%)OOl
O’ —
2500 Exposure Time =39.84 s
ModeO
min = mean - 1 o = 998.35
maXx = mean + 15 o = 1054.676
3000 Focus = 11414.0
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mjc HIP 47908 hr8 40s 2025-03-30T08-21-30
UTC 2025-03- 3'0 8:41:15.48
Meag §513001
O’ —]
2500 Exposure Time =39.84 s
ModeO
min = mean -1 o = 998.38
max = mean + 15 o = 1055.236
3000 Focus = 11414.0
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2000

mjc_HIP_ 49583 hr8844s 2025 03-30T08-23-31

UTC 2025-03- 3'0
Meag 2017001
O’ —
2500 Exposure Time =44.28 s
ModeO
min = mean -1 o = 997.888
max = mean + 15 o = 1052.398
3000 Focus = 11414.0

43:25.9
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mjc_HIP 49583 hr8844s 2025 03-30T08-25-31

UTC 2025-03- 3'0
Meag 22%001
@ = 3.
2500 Exposure Time =44.28 s
ModeO
min = mean -1 o = 997.886
max = mean + 15 o0 = 1052.6
3000 Focus = 11414.0

45:34.9
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“
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mjc HIP 49583 hr8 59s 2025 03-30T08-27-30
C'2025033'0 8:47:46
Meag 7—7%001
@ = 3.
2500 Exposure Time =59.04 s
ModeO
min = mean -1 o = 998.189
maxXx = mean + 15 o = 1058.628
3000 Focus = 11414.0
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2000

mjc HIP 49583 hrg 59s 2025-03-30T08-29-45
UTC 2025-03-30 08:50:11.55
Meag 7=4%001.668
@ = 3
2500 Exposure Time =59.04 s
ModeO
min = mean -1 o0 =997.919
max = mean + 15 o = 1057.902
3000 Focus = 11414.0
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mjc HIP 50335 hrg 44s 2025 03-30T08-32-05
UTC 2025-03- 3'0 8:54:15.2
Meag3—611007
o= 63.
2500 Exposure Time =44.28 s
ModeO
min = mean -1 o = 943.675
max = mean + 15 o = 1961.477
3000 Focus = 11464.0
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2000 _

mjc HIP 50335 hrg 59s 2025 03-30T08-36-05
UTC 2025-03- 3'0 8:5
Mea99—6}1009 .59
o=179.
2500 Exposure Time =59.04 s
ModeO
min = mean - 1 o = 929.953
max = mean + 15 o = 2204.273
3000 Focus = 11464.0
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__h

2000

mjc_HIP 50335 hr8859s 2025 03-30T08-38-19

UTC 2025-03- 3'0
Meag 59%001 .70
O’ —
2500 Exposure Time =59.04 s
ModeO
min = mean - 1 o = 998.005
max = mean + 15 o = 1057.166
3000 Focus = 11464.0

58:31.6
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mjc_HIP 50372 hr89465 2025 03-30T08-40-44

UTC 2025-03- 3'0
Meag 5919001 .46
@ = 3
2500 Exposure Time =45.936 s
ModeO
min = mean -1 o = 998.068
maXx = mean + 15 o = 1052.446
3000 Focus = 11464.0

00:44.8
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mjc HIP 50372 hr8 465 2025 03-30T08-42-46
UTC 2025-03-30 09:0
Meag 22}1001 491
O’ —]
2500 Exposure Time =45.936 s
ModeO
min = mean -1 o = 998.067
max = mean + 15 o = 1052.852
3000 Focus = 11464.0
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mjc_HIP 50372 hr896ls 2025 03-30T08-44-47

UTC 2025-03- 3'0
Meag 7—2%001
O’ —
2500 Exposure Time =61.248 s
ModeO
min = mean -1 o = 998.233
max = mean + 15 o = 1057.841
3000 Focus = 11464.0

04748
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mjc HIP 50372 hr8 6ls 2025 03-30T08-47-04
UTC 2025-03- 3'0 9:0
Meag 7—3%001
O’ —
2500 Exposure Time =61.248 s
ModeO
min = mean -1 o = 998.21
max = mean + 15 o = 1057.939
3000 Focus = 11464.0
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2000

mjc HIP 50583 hrg 17s 2025-03-30T08-49-33
UTC 2025-03-30 09:09:34.62
Meag T8%001.257
@ = 3.
2500 Exposure Time =17.064 s
ModeO
min = mean -1 o = 998.072
max = mean + 15 o = 1049.027
3000 Focus = 11464.0
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mjc HIP 50583 hrg 17s 2025-03-30T08-51-06
UTC 2025-03-30 09:11:15.55

Mean = 1001.706

o= 3.263

Exposure Time =17.064 s

ModeO

min = mean - 1 o = 998.444

max = mean + 15 o = 1050.647

Focus = 11464.0
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2000

mjc_HIP 50583 hr89235 2025-03-30T08-52-38

UTC 2025-03- 3'0
Meag 2819002
@ = 3
2500 Exposure Time =22.752 s
ModeO
min = mean - 1 o = 998.751
max = mean + 15 o = 1054.572
3000 Focus = 11464.0

12:58.72
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-_“

2000

mjc_HIP 50583 hr89235 2025 03-30T08-54-16

UTC 2025-03- 3'0
Meag 59%001
o=
2500 Exposure Time =22.752 s
ModeO
min = mean - 1 o = 998.297
max = mean + 15 o = 1052.613
3000 Focus = 11464.0

14:47.2
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2000

mjc_HIP 51233 hr89925 2025-03-30T08-56-04

UTC 2025-03-30
Mea?1 §012001.971
o =4,
2500 Exposure Time =92.16 s
ModeO
min = mean -1 o = 997.669
max = mean + 15 o0 = 1066.494
3000 Focus = 11464.0

16:41.50
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2000

mjc_HIP 51233 hr89925 2025 03-30T08-58-52

UTC 2025-03- 3'0
Mea?1 52%001
O’ —
2500 Exposure Time =92.16 s
ModeO
min = mean -1 o0 = 997.653
maxXx = mean + 15 o0 = 1066.856
3000 Focus = 11464.0

19536
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mijc HIP 51233 hr8 1-2e+02s_2025-03-30T09-01-40

UTC 2025-03-30 09:22:31.14

Mean = 1002.657

g C = °-145

Exposure Time =122.88 s

ModeO

min = mean -1 o0 =997.513

max = mean + 15 o = 1079.827
3000 Focus = 11464.0

0 1000 2000 3000 4000



500

1000

1500 *

2000

mjc_HIP 51233 hrggl 2e+025 2025-03-30T09-04-58

UTC 2025-03- 3'0
Mea?1 5917002
O’ —
2500 Exposure Time =122.88 s
ModeO
min = mean -1 o0 = 997.973
maxXx = mean + 15 o = 1077.933
3000 Focus = 11369.0

27:40
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2000

mjc HIP 54872 hr8 205 2025 03-30T09-10-01
UTC 2025-03- 3'0 9:3
Meag 6619001
@ = 3
2500 Exposure Time =19.8 s
ModeO
min = mean -1 o = 998.0
maxXx = mean + 15 o = 1047.103
3000 Focus = 11369.0
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2000

mjc HIP 54872 hrg 26s 2025-03-30T09-11-36
UTC 2025-03-30 09:32:24.12
Meag T917001.416
@ = 3.
2500 Exposure Time =26.4 s
ModeO
min = mean -1 o = 998.219
max = mean + 15 o = 1049.375
3000 Focus = 11369.0
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2000

mjc_HIP 54872 hr89265 2025 03-30T09-13-18

UTC 2025-03- 3'0
Meag 2—0%001 ]
@ = 3
2500 Exposure Time =26.4 s
ModeO
min = mean -1 o = 998.236
maxXx = mean + 15 o = 1049.471
3000 Focus = 11369.0

33:57.0
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2000

mjc HIP 54879 hr8 425 2025 03-30T09-15-05
UTC 2025-03- 3'0 9:3
Meaz 69%)001 617
O’ —]
2500 Exposure Time =41.904 s
ModeO
min = mean -1 o = 997.527
max = mean + 15 o = 1062.97
3000 Focus = 11369.0
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mjc_HIP 54879 hr89425 2025 03-30T09-17-02

UTC 2025-03-30
Meaz 6119001 .587
O’ —
2500 Exposure Time =41.904 s
ModeO
min = mean -1 o = 997.569
maxXx = mean + 15 o0 = 1061.866
3000 Focus = 11369.0

37:40
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2000

mjc_HIP 54879 hr89565 2025 03-30T09-19-00

UTC 2025-03- 3'0
Mea?1 7—3%002 13
o =4,
2500 Exposure Time =55.872 s
ModeO
min = mean -1 o = 997.403
max = mean + 15 o = 1073.129
3000 Focus = 11369.0

39:28
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2000

mjc_HIP 54879 hr89565 2025-03-30T09-21-11

UTC 2025-03-30
Mea?1 7—2%002 131
O’ —
2500 Exposure Time =55.872 s
ModeO
min = mean -1 o = 997.401
max = mean + 15 o = 1073.069
3000 Focus = 11369.0

41:29.54
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2000

mjc_HIP 57632 hr8914s 2025 03-30T09-23-29

UTC 2025-03- 3'0
Meag 61%3001
O’ —
2500 Exposure Time =13.68 s
ModeO
min = mean -1 o = 997.998
max = mean + 15 o = 1046.291
3000 Focus = 11369.0

43:36
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mjc_HIP 57632 hr8914s 2025 03-30T09-24-58

UTC 2025-03- 3'0
Meag 61%001
0 = 3
2500 Exposure Time =13.68 s
ModeO
min = mean -1 o = 997.993
max = mean + 15 o0 = 1046.254
3000 Focus = 11369.0

44756
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mjc_HIP 57632 hr8918s 2025 03-30T09-26-27

UTC 2025-03- 3'0
Meag IZ%OOl
O’ —
2500 Exposure Time =18.24 s
ModeO
min = mean -1 o = 998.196
max = mean + 15 o = 1048.211
3000 Focus = 11369.0

46716
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mjc_HIP 57632 hr8918s 2025 03-30T09-28-01

UTC 2025-03- 3'0
Meag IZ%)OOl
O’ —
2500 Exposure Time =18.24 s
ModeO
min = mean -1 o = 998.206
max = mean + 15 o = 1048.123
3000 Focus = 11369.0

47:40
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mjc_HIP_ 60742 hr891e+025 2025-03-30T09-29-43

utc 2025—03—3'0
Mea?1 2=3}1002.2
o =4,
2500 Exposure Time =103.824 s
ModeO
min = mean -1 o = 998.038
max = mean + 15 o = 1065.783
3000 Focus = 11369.0

49:11.63

0 1000 2000 3000 4000



500

1000

1500 [ — _

2000

mjc HIP 60742 hr8 1e+025 2025-03-30T09-32-42
UTC 2025-03- 3'0 9:5
Mea?1 2_6}1002
O’ —
2500 Exposure Time =103.824 s
ModeO
min = mean -1 o = 998.037
max = mean + 15 o = 1066.254
3000 Focus = 11369.0
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2000

mjc HIP 60742 hr8 1- 4e+025 2025-03-30T09-35-42
UTC 2025-03- 3'0 9:5
Meag 6417003
@ = 5.
2500 Exposure Time =138.432 s
ModeO
min = mean -1 o = 998.019
maXx = mean + 15 o = 1078.765
3000 Focus = 11369.0
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2000

mjc_HIP_ 60742 hr%ol -4e+02s 2025-03-30T09-39-16

UTC 2025-03-30
Meag 68%003 101
o’ —
2500 Exposure Time =138.432 s
ModeO
min = mean -1 o = 998.015
maxXx = mean + 15 o = 1079.386
3000 Focus = 11353.0

00:37.47
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.

mjc HIP 63125 hr% 27s 2025 03-30T09-44-39
UTC 2025-03-30 10:0
Meag 6611000 875
O’ =
2500 Exposure Time =27.216 s
ModeO
min = mean -1 o = 997.814
max = mean + 15 o = 1046.795
3000 Focus = 11353.0

2000
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2000

mjc HIP 63125 hrg 36s 2025-03-30T09-46-22
UTC 2025-03-30 10:06:17.86
Meag T911001.154
@ = 3.
2500 Exposure Time =36.288 s
ModeO
min = mean -1 o0 = 997.962
max = mean + 15 o = 1049.025
3000 Focus = 11353.0
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2000

mjc HIP 63125 hrg 36s 2025-03-30T09-48-14
UTC 2025-03-30 10:08:19.03
Meag T817001.149
@ = 3.
2500 Exposure Time =36.288 s
ModeO
min = mean -1 o0 = 997.962
max = mean + 15 o = 1048.952
3000 Focus = 11353.0
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2000

mjc_HIP 67301 hr%olls 2025-03-30T09-50-14

UTC 2025-03-30
Meag 50}1000 .565
O’ —
2500 Exposure Time =10.728 s
ModeO
min = mean -1 o0 = 997.661
maxXx = mean + 15 o = 1044.131
3000 Focus = 11353.0

10:27.73
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2000

mjc_HIP 67301 hr%olls 2025 03-30T09-51-40

UTC 2025-03-30
Meag 50%000 .576
@ = 2.
2500 Exposure Time =10.728 s
ModeO
min = mean -1 o0 =997.671
max = mean + 15 o = 1044.153
3000 Focus = 11353.0

12:04.6
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mjc_HIP 67301 hr%014s 2025 03-30T09-53-06

UTC 2025-03-30
Meag 6319001.185
@ = 3
2500 Exposure Time =14.304 s
ModeO
min = mean -1 o = 998.146
max = mean + 15 o = 1046.771
3000 Focus = 11353.0

13:43
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mjc HIP 67301 hr% 14s 2025 03-30T09-54-36
UTC 2025-03- 3'0 0:1
Meag 55%000 70
0 = 2.
2500 Exposure Time =14.304 s
ModeO
min = mean -1 o = 997.753
max = mean + 15 o = 1045.051
3000 Focus = 11353.0

2000
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mjc_HIP 67927 hr%023s 2025 03-30T09-56-21

UTC 2025-03- 3'0
Meag Il%)001
@ = 3.
2500 Exposure Time =22.68 s
ModeO
min = mean - 1 o = 998.098
max = mean + 15 o = 1047.851
3000 Focus = 11353.0

17:17.8
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mjc_HIP 67927 hr%OZBS 2025 03-30T09-57-59

UTC 2025-03- 3'0
Meag Il%_)OOl
O’ —
2500 Exposure Time =22.68 s
ModeO
min = mean - 1 o = 998.089
max = mean + 15 o = 1047.925
3000 Focus = 11353.0

19072
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mjc HIP 67927 hr% 305 2025 03-30T09-59-37
UTC 2025-03- 3'0 0:2
Meag 2_6213001
@ = 3
2500 Exposure Time =30.24 s
ModeO
min = mean - 1 o = 998.335
max = mean + 15 o = 1050.616
3000 Focus = 11353.0
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mjc HIP 67927 hrg 30s 2025-03-30T10-01-23
UTC 2025-03-30 10:22:33.38
Meag 2=6%001'573
@ = 3.
2500 Exposure Time =30.24 s
ModeO
min = mean -1 o0 = 998.311
maxXx = mean + 15 o = 1050.496
3000 Focus = 11353.0
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2000

mjc_HIP 71075 hr%03ls 2025 03-30T10-03-20

UTC 2025-03-30
Meag I3%)001 150
@ = 3
2500 Exposure Time =30.96 s
ModeO
min = mean -1 o = 998.02
max = mean + 15 o = 1048.104
3000 Focus = 11353.0

24119
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mjc_HIP_ 71075 hr%031s 2025 03-30T10-05-06

UTC 2025-03-30
Meag T2%001'151
@ = 3
2500 Exposure Time =30.96 s
ModeO
min = mean - 1 o = 998.025
max = mean + 15 o = 1048.044
3000 Focus = 11353.0

25:55.8

0 1000 2000 3000 4000



500

1000

1500 e

2000

mjc_HIP_ 71075 hr%04ls 2025 03-30T10-06-53

UTC 2025-03-30
Meag 2=8%)001'515
@ = 3.
2500 Exposure Time =41.28 s
ModeO
min = mean -1 o = 998.235
max = mean + 15 o = 1050.716
3000 Focus = 11353.0

2057
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mjc_HIP_ 71075 hr%04ls 2025 03-30T10-08-49

UTC 2025-03-30
Meag 2=75001.515
@ = 3
2500 Exposure Time =41.28 s
ModeO
min = mean -1 o = 998.236
max = mean + 15 o = 1050.702
3000 Focus = 11353.0

29:40
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mjc HIP 73555 hr% 49s 2025 03-30T10-10-52
UTC 2025-03-30 10:3
Meag 55%001 494
O’ —
2500 Exposure Time =48.96 s
ModeO
min = mean -1 o = 998.135
max = mean + 15 o = 1051.884
3000 Focus = 11391.0
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mjc_HIP_ 73555 hr%0655 2025-03-30T10-15-01

UTC 2025-03- 3'0
Meag 55%002
O’ —
2500 Exposure Time =65.28 s
ModeO
min = mean -1 o = 998.368
max = mean + 15 o0 = 1056.864
3000 Focus = 11391.0

852 oY
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mjc HIP 73555 hr% 655 2025 03-30T10-17-22
UTC 2025-03- 3'0 0:3
Meag 5613002
O’ —]
2500 Exposure Time =65.28 s
ModeO
min = mean - 1 0 = 998.358
maxXx = mean + 15 o0 = 1056.961
3000 Focus = 11391.0
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mjc_HIP 74666 hr%0485 2025 03-30T10-19-48

UTC 2025-03-30
Meag 2=8%001'417
@ = 3
2500 Exposure Time =47.664 s
ModeO
min = mean -1 o = 998.135
max = mean + 15 o = 1050.638
3000 Focus = 11391.0

40:14.6
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mjc_HIP 74666 hr%0485 2025-03-30T10-21-51

UTC 2025-03- 3'0
Meag 2—9%001 .43
@ = 3
2500 Exposure Time =47.664 s
ModeO
min = mean -1 o = 998.141
max = mean + 15 o = 1050.863
3000 Focus = 11391.0

42708.54
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mjc_HIP 74666 hr%064s 2025 03-30T10-23-55

UTC 2025-03- 3'0
Meag §75001
O’ =
2500 Exposure Time =63.552 s
ModeO
min = mean - 1 0 = 998.349
max = mean + 15 o = 1055.617
3000 Focus = 11391.0

44702
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mjc_HIP 74666 hr%064s 2025 03-30T10-26-14

UTC 2025-03- 3'0
Meag gl%)OOl
O’ —
2500 Exposure Time =63.552 s
ModeO
min = mean - 1 o = 998.374
max = mean + 15 o0 = 1056.141
3000 Focus = 11391.0

46:12
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mjc_HIP_75695 hr%057s 2025 03-30T10-28-36

2000

UTC 2025-03-30
Meag ;111001.12
@ = 3.
2500 Exposure Time =56.664 s
ModeO
min = mean -1 o0 = 997.811
maxXx = mean + 15 o = 1050.793
3000 Focus = 11391.0

48743
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mjc HIP 75695 hrg 57s 2025-03-30T10-30-48
UTC 2025-03-30 10:51:04.57
Meag ;&3001.118
@ = 3.
2500 Exposure Time =56.664 s
ModeO
min = mean -1 o = 997.815
max = mean + 15 o = 1050.661
3000 Focus = 11391.0
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mjc_HIP_75695 hr%0765 2025 03-30T10-33-00

2000

UTC 2025-03- 3'0
Meag gg%)OOl .50
@ = 3
2500 Exposure Time =75.552 s
ModeO
min = mean -1 o0 =997.913
max = mean + 15 o = 1055.351
3000 Focus = 11391.0

53:25.8
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2000

mjc_HIP_75695 hr%0765 2025 03-30T10-35-32

UTC 2025-03-30
Meag 51%001 .535
O’ —
2500 Exposure Time =75.552 s
ModeO
min = mean -1 o0 =997.919
max = mean + 15 o = 1055.768
3000 Focus = 11391.0

56:06
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mjc HIP 75973 hrg 2e+02s 2025-03-30T10-38-10
UTC 2025-03-30 10:58:33.70
Mean = 1003.149
Exposure Time =195.336 s
ModeO
min = mean -1 o = 997.584
max = mean + 15 o0 = 1086.615
3000 Focus = 11391.0
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2000
mjc_HIP_75973 hrg_2e+02s 2025-03-30T10-42-41
UTC 2025-03-30_ 11:02:55.53
Mean = 1003.152
2500 SR

Exposure Time =195.336 s
ModeO

min = mean -1 o0 = 997.6

maxXx = mean + 15 o = 1086.443
3000 Focus = 11391.0
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mjc_HIP_75973 hr%IZ 6e+025 2025-03-30T10-47-12

UTC 2025-03-30

Mean = 1004.114

Exposure Time =260.448 s

ModeO

min = mean -1 o = 997.28

maxXx = mean + 15 0 = 1106.629
3000 Focus = 11393.0

09:02
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mjc HIP 76267 hr% 155 2025 03-30T10-58-32
UTC 2025-03- 3'0 1:1
Meag 59%000
O’ f—
2500 Exposure Time =15.12 s
ModeO
min = mean -1 o = 997.958
maxXx = mean + 15 o = 1045.889
3000 Focus = 11393.0
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mjc HIP 76267 hr% 155 2025 03-30T11-00-03
UTC 2025-03- 3'0 1:1
Meag 6017000
@ = 3.
2500 Exposure Time =15.12 s
ModeO
min = mean -1 o = 997.992
max = mean + 15 o = 1046.108
3000 Focus = 11393.0
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mjc HIP 76267 hr% 205 2025 03-30T11-01-34
UTC 2025-03- 3'0 1:1
Meag IO%BOOl
O’ —
2500 Exposure Time =20.16 s
ModeO
min = mean -1 o = 998.221
maXx = mean + 15 o = 1047.956
3000 Focus = 11393.0
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mjc_HIP 76267 hr%IZOS 2025 03-30T11-03-09

UTC 2025-03- 3'0
Meag I()%OOl
O’ —
2500 Exposure Time =20.16 s
ModeO
min = mean -1 o = 998.219
max = mean + 15 o = 1047.894
3000 Focus = 11393.0

19:32
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mjc HIP 78072 hr% 665 2025 03-30T11-04-52
UTC 2025-03-30 1T1:2
Meag §4%001 654
O’ —]
2500 Exposure Time =65.664 s
ModeO
min = mean -1 o = 998.107
max = mean + 15 o = 1054.849
3000 Focus = 11393.0
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mjc HIP 78072 hr% 665 2025 03-30T11-07-13
UTC 2025-03- 3'0 1:2
Meag g4%)001
O’ —
2500 Exposure Time =65.664 s
ModeO
min = mean -1 o0 =998.112
maXx = mean + 15 o = 1054.752
3000 Focus = 11393.0
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mjc_HIP_78072 hr%188s 2025-03-30T11-09-34

UTC 2025-03-30
Meag 55}1002 164
O’ —
2500 Exposure Time =87.552 s
ModeO
min = mean -1 o = 998.21
maxXx = mean + 15 o = 1061.467
3000 Focus = 11393.0

25:28.57
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mjc_HIP_ 78072 hr%IBSS 2025 03-30T11-12-18

UTC 2025-03- 3'0
Meag 57%)002 19
@ = 3.
2500 Exposure Time =87.552 s
ModeO
min = mean -1 o = 998.228
max = mean + 15 o = 1061.749
3000 Focus = 11393.0

28:01.8
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mjc HIP 80170 hr% 61s 2025-03-30T11-15-06
UTC 2025-03- 3'0 1:30:39.41
Meag 29%001
O’ —
2500 Exposure Time =60.984 s
ModeO
min = mean -1 o = 998.105
max = mean + 15 o = 1054.03
3000 Focus = 11393.0
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mjc_HIP 80170 hr%I6ls 2025 03-30T11-17-22

2000

UTC 2025-03-30
Meag 27%001.57
@ = 3.
2500 Exposure Time =60.984 s
ModeO
min = mean - 1 o = 998.095
max = mean + 15 o = 1053.718
3000 Focus = 11393.0

32:46
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mjc HIP 80170 hr% 8ls 2025 03-30T11-19-39
UTC 2025-03- 3'0 1:3
Meag E;5}1002
O’ —]
2500 Exposure Time =81.312 s
ModeO
min = mean -1 o = 998.228
maxXx = mean + 15 o = 1059.89
3000 Focus = 11393.0

0 1000 2000 3000 4000



500

1000

1500 e

2000

mjc HIP 80170 hr% 8ls 2025 03-30T11-22-16
UTC 2025-03- 3'0 1:3
Meag 5611002
O’ —
2500 Exposure Time =81.312 s
ModeO
min = mean -1 o = 998.23
max = mean + 15 o = 1060.009
3000 Focus = 11393.0
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mjc_HIP 80816 hr%IZSS 2025 03-30T11-24-55

UTC 2025-03-30
Meag TZ%OOLZM
@ = 3.
2500 Exposure Time =24.624 s
ModeO
min = mean -1 o0 =998.118
max = mean + 15 o = 1048.087
3000 Focus = 11315.0

41:32
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2000

mjc_HIP 80816 hr%IZSS 2025 03-30T11-26-36

UTC 2025-03- 3'0
Meag I3%001
@ = 3.
2500 Exposure Time =24.624 s
ModeO
min = mean -1 o0 = 998.114
max = mean + 15 o0 = 1048.288
3000 Focus = 11315.0

43703
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mjc_HIP 80816 hr%I335 2025 03-30T11-28-16

UTC 2025-03- 3'0
Meag 50}1001
O’ —]
2500 Exposure Time =32.832 s
ModeO
min = mean - 1 o = 998.356
max = mean + 15 o = 1051.224
3000 Focus = 11315.0

44:34.8
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mjc HIP 80816 hr% 335 2025 03-30T11-30-04
UTC 2025-03- 3'0 1:4
Meag 51%)001
O’ —
2500 Exposure Time =32.832 s
ModeO
min = mean - 1 0 = 998.356
max = mean + 15 o0 = 1051.322
3000 Focus = 11315.0
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h—

mjc_HIP 81693 hr%IZSS 2025 03-30T11-31-59

2000

UTC 2025-03- 3'0
Meag I3%001
o=
2500 Exposure Time =25.344 s
ModeO
min = mean - 1 o = 998.098
max = mean + 15 o = 1048.219
3000 Focus = 11315.0

47:57.9
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mjc_HIP 81693 hr%IZSS 2025 03-30T11-33-40

2000

U C'2025-03-3'0
Meag T319001.2
@ = 3
2500 Exposure Time =25.344 s
ModeO
min = mean -1 o = 998.102
max = mean + 15 o = 1048.328
3000 Focus = 11315.0

49:28
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mjc_HIP 81693 hr%I34s 2025 03-30T11-35-21

2000

UTC 2025-03- 3'0
Meag 2—9%001
@ = 3
2500 Exposure Time =33.792 s
ModeO
min = mean -1 o0 = 998.317
maxXx = mean + 15 o = 1050.988
3000 Focus = 11315.0

51:00
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mjc_HIP 81693 hr%I34s 2025-03-30T11-37-10

2000

UTC 2025-03-30
Meag 2=9%001.614
@ = 3
2500 Exposure Time =33.792 s
ModeO
min = mean -1 o = 998.319
max = mean + 15 o = 1051.032
3000 Focus = 11315.0

52:40.58
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mjc_HIP_81833 hrg_48s 2025-03-30T11-39-05
UTC 2025-03-30 11:54724.41
Mean = 1001.549
2500 S

Exposure Time =48.096 s
ModeO

min = mean -1 o0 = 998.16

max = mean + 15 o = 1052.369
3000 Focus = 11315.0
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2000

mjc HIP 81833 hrg 48s 2025-03-30T11-41-09
UTC 2025-03-30 11:56:18.33
Meag ;8%001.547
@ = 3.
2500 Exposure Time =48.096 s
ModeO
min = mean -1 o0 = 998.167
max = mean + 15 o = 1052.253
3000 Focus = 11315.0
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mjc HIP 81833 hr% 64s 2025-03-30T11-43-13
C'2025033'O 1:58:31.71
Meag 7—0%002
o= 3.
2500 Exposure Time =64.128 s
ModeO
min = mean - 1 o = 998.359
max = mean + 15 o = 1057.581
3000 Focus = 11315.0
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mjc HIP 81833 hr% 64s 2025-03-30T11-45-32
UTC 2025-03- 30 2:00:41.45
Mean = 1002.074
2500 = 3.7/1.3

Exposure Time =64.128 s

ModeO

min = mean -1 o = 998.36

max = mean + 15 o = 1057.771
3000 Focus = 11315.0
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mjc HIP 84379 hr% 34s 2025 03-30T11-48-00
UTC 2025-03- 3'0 2:0
Meag I7%001
O’ —
2500 Exposure Time =34.272 s
ModeO
min = mean - 1 o = 998.057
max = mean + 15 o = 1048.879
3000 Focus = 11315.0
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mjc_HIP 84379 hr%234s 2025 03-30T11-49-50

UTC 2025-03- 3'0
Meag I8%001
@ = 3.
2500 Exposure Time =34.272 s
ModeO
min = mean - 1 o = 998.055
maxXx = mean + 15 o = 1048.983
3000 Focus = 11315.0

04740
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mjc_HIP_ 84379 hr%2465 2025-03-30T11-51-40

UTC 2025-03-30
Meag 2017001 655
O’ —
2500 Exposure Time =45.696 s
ModeO
min = mean - 1 o = 998.248
max = mean + 15 o = 1052.761
3000 Focus = 11315.0

06:21.40
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mjc HIP 84379 hr% 465 2025 03-30T11-53-41
UTC 2025-03- 3'0 2:0
Meag 22%001
@ = 3.
2500 Exposure Time =45.696 s
ModeO
min = mean -1 o = 998.273
max = mean + 15 o = 1053.09
3000 Focus = 11315.0
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mjc_HIP_ 86032 hr%2135 2025 03-30T11-55-50

UTC 2025-03- 3'0
Meag 63}1001
O’ —]
2500 Exposure Time =12.96 s
ModeO
min = mean -1 o = 997.987
max = mean + 15 o = 1046.528
3000 Focus = 11315.0

10:12
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mjc_HIP_ 86032 hr%2135 2025 03-30T11-57-19

UTC 2025-03- 3'0
Meag 63%)001
O’ —
2500 Exposure Time =12.96 s
ModeO
min = mean - 1 o = 998.009
max = mean + 15 o = 1046.493
3000 Focus = 11315.0

11:31.6

0 1000 2000 3000 4000



500

1000

1500 I

2000

mjc HIP 86032 hrg 17s 2025-03-30T11-58-47
UTC 2025-03-30 12:14:32.75
Meag T9}1001.430
@ = 3.
2500 Exposure Time =17.28 s
ModeO
min = mean -1 o = 998.237
max = mean + 15 o = 1049.337
3000 Focus = 11221.0
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mjc_HIP_ 86032 hr%217s 2025 03-30T12-00-20

UTC 2025-03-30
Meag 2—3%001 .497
O’ —
2500 Exposure Time =17.28 s
ModeO
min = mean -1 o = 998.262
max = mean + 15 o = 1050.031
3000 Focus = 11221.0

15:56
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mjc_HIP 86974 hr%2455 2025-03-30T12-02-02

UTC 2025-03-30
Mea?l T1£002.274
o=4,
2500 Exposure Time =44.64 s
ModeO
min = mean -1 o0 = 998.16
max = mean + 15 o = 1063.986
3000 Focus = 11221.0

17:28.55
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mjc_HIP 86974 hr%2455 2025 03-30T12-04-02

UTC 2025-03- 3'0
Mea?l g417002
O’ —
2500 Exposure Time =44.64 s
ModeO
min = mean -1 o = 998.073
maxXx = mean + 15 o = 1070.818
3000 Focus = 11221.0

1919
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